
&5 ww
D- ww

G 7 ww
C± ∑

&13 ˙̇ ˙̇D- G 7 ˙̇ ˙̇D- G 7

ww
C±

∑

&21 ww
D- ˙̇ ˙̇D- G 7 ww

C± ∑

&29 ˙̇ ˙̇D- G 7

ww
G 7

ww
C± ∑

Tritone Substitution

ii V7 I - 3rd and 7th guide tones - notice resolutions.  Key is C, no accidentals. 

ii V7 I are now 2 beats apiece - ii is paired with the V7.
3rd and 7th guide tone resolution continues.  Key remains C.
This adjustment can be done since the chords are related, give motions before resolving to I

ii remains in measure 1 and into measure 2, thus delaying resolution to V7. 
3rd and 7th guide tone resolution continues.  Key remains C.
The chords are related but a somewhat stronger resolution to I with the delay of V7.

1)

2)

3)

4)

V7 enter in second half of measure 1 and into measure 2,  
3rd and 7th guide tone resolution continues.  Key remains C.
The chords are related but a weaker resolution to I with the early entry of V7.

Relationship to Diminished Whole-Tone and Altered Scales



&37 ww
D- ww

G 7 ww
C± ∑

D-
&45 ww ww

Db 7 ww
C± ∑

Db 7 G 7

Db7 +4
G 7+9 Db 7

&57 œ œ œ œ œ œ œ œG 7

œb œb œ œb œb œb œb œbDb 7

&61 œ œb œb œn œb œb œ œG 7+9

œb œb œ œ œb œb œb œbDb7 +4

2

ii V7 I - 3rd and 7th guide tones - notice resolutions.  Key is C, no accidentals.  Like 1)

ii remains but V7 is replaced by one a Tritone away - A Tritone Substitution. 
3rd and 7th guide tone resolution continues to I chord in the key of C.

can replace the 

 The other notes being chromatic create Tension, thus a stronger resolution to I.  

one must raise the 4th of the 

thus making it a

Because they share the same Guide Tones - B and F.   

To have the same notes as a

5)

6)



&73 ˙̇ ˙̇D- G 7

ww
Db 7

ww
C±

∑

&81 ˙̇ ˙̇D- G 7

˙̇b ˙̇Ab- Db 7

ww
C±

∑

&85 ∑ ∑ ∑ ∑

3

ii V7 in measure 1 and Tritone Substitution in measure 2 resolving to I.
This is possible due to the guide tones being the same.  

ii V7 in measure 1 and Tritone Substitution paired in measure 2, just as in  
Resolution is strong and motion created.

2)


